
PART II 

Plant Physiology 

Note : Question No. 7 is compulsory. Attempt any 

four questions from questions no. 8 to 12. 

7. (a) Fill in the blanks : 	 2x1=2 

(i) Water potential of pure water at STP is 
taken as 	  

(ii) Haploid plants can be obtained by 
tissue culture of 	 

(b) Choose the correct option : 	 2x -1=1 

(i) The relative activity of a physiological 
process under different wavelengths of 
light is called (Absorption 
spectrum/Action spectrum). 

(ii) Nitrate reductase activity is induced in 
the presence of (NO2 /NH4  ). 
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(c) Answer the following in one word or a few 

words : 	 2x1=2 

(i) What is the term used for the 
percentage of moisture in the soil at 
which a plant wilts and does not 
recover unless water is added ? 

(ii) Name phloem elements. 

8. (a) How does soil aeration affect the absorption 
of water by a plant ? 	 3 

(b) How does water stress in the soil inhibit 
photosynthesis ? 	 2 

. Discuss the functions of any five micronutrients 
in plants. 	 5 

10. What is photorespiration ? Mention two 
conditions that promote it. Why is the process 
considered a "necessary evil" ? 

	
5 

11. What is phytochrome ? How was it discovered ? 
Name any three phytochrome mediated 
responses of plants. 	 5 
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12. Write short notes on any two of the following : 
2x21  .5 2 

(a) Enzymes involved in nitrogen fixation 

(b) Auxin 

(c) Vernalisation 

(d) Biological clock 
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2 
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